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1. A straight uni (oo bar weighing 60 Lk rests in a borizantal position againsl

2.

twor frietionless slopes a2 shovm in Figore 1. A concentrated vertical load of
200 1 acts at a distance x from the fght end of the bar as shown. Fand the
distanee » for cquthiboum, (20 )

Rod ABCT} i Figure 2 rosiz againgt vollers at B and ©, and against & smoodl
surfacs at A, Fied the angle o 50 the voller at B asay be pemoved £ 2054
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3. In Figure 5 find the reactions ar Lhe hinpe supports A and D200}
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4. In Figure 4 1he unifarny cod has wiighl W and rests on supporis as shown, with
ba. Draw the shear and bending moment dtzgrams and show thad the largest
bending moment is at BiE 292 = bo20%)
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3. Find the force Pzee Figuea 5 for which the 200 [b block A will be gn the verge of
sliding upward, The wedee B waiphs 30 Jo(20%)

YA A i N?’/ el r FFiiy
M=o

N NrrL
Fu'g-E,




